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o =7} A
1 Netherlands(H| & 2t=) 1
2 (=) 5
3 (2{Alol) 3
4 (S0} of) 3
5 (S2) 1
6 (o] =) 15
7 (H E 4
8 (7o) 1
9 (AFClotztd|o}) 2
10 (ot=2m| L of) 1
11 (&) 3
12 (2AE2|o}) 1
13 (olzt) 1
14 (0| Etz|o}) 2
15 (A= 3
16 (=) 6
17 (E2) 4
18 (F}XtE AEH 5
19 (ZHLteh) 1
20 (7| 27| AAEH 1
21 (E§ =) 1
22 (E171) 4
23 (Z2fA) 1
24 (%) )
25 (83) 3
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1 Ghana(7H-) 1
2 Netherlands(4| & 2t=) 1

3 Taiwan(ci 2H 2

4 (5¢) 6

5 (24| ok) 3

6 (Fat{o}) 3
7 (82) 1

8 (o1=) 15
: (Hl == 1
10 (2]ofl) 1
11 (At2Clot2td| o) 2
12 (~9l2) 1
13 (ot=2m L of) 1
14 (ol E) 1
15 (d=2) 4
16 (2AEz|o}) 1
17 (o] 2h) 1
18 (ol Et2|o}) 2
19 (91 =) )
20 (9l 4| Alo}) 1
21 (2=) 5
22 (£2) 5
23 (FIXFS AEH 5
24 (FHLtE}) 2
25 (F|27| A AEH 1
26 (Ef =) 1
27 (E471) 4
28 (=) 2
29 (EF) 2
30 (23) 3
5t 80




